RRH

R R IRE
BESH
NEAETE

337 5 M (TR AL )

T £ E(RIFEE RS L@ 360°)

& K

D YR

RAAEEM
PRIE A8 = SRR
BEEN R R
RFE KRG AL IBER
BIEE X RS BIER
AHESRRNRERH
MTTFd/MTBF
FEBEE
THARERIRFE(typ.) REER
T A B R IRFE(typ.) BERER
W& B E AR
WHBRXBRAR

BB R AR M R AR AP
WO BSERE
BR&GEET
BB ERE
BR&EGIEEE

TR
HWABRSERETR
BRELUEBRBEILR
B BESRERETR
BREUBBEITR

MBS B
WA BB E
Bhin &4
RN Fa

TR 78 E (with wires)

I fEFf% 1758 E (with round cable)

Al

-

o

% of meas. range
% of meas. range
bit

kHz

kHz

LS

Ls

pom/°K

years

7a

mA

mA

kOhm

nF

mm?

mm?

mm?

mm?

movements
°c
°c

IEC 68-2-6 #x3h (Amax =0.75mm, f=5 ... 2000 Hz) 9

IEC 68-2-27 i

(SEEo

EN 55022 class B, Emission radiated (30... 230 MHz)

EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)

EN 61000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)
EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

HRBEEEAR (¥ AFRATF TEL:400-800-5927 5§k T

g9

aBuVv/m)
aBu\V/m)
144

V/im

KV

KV

Vemk
A/m
GOhm
144

ERR (B BRAFE

MH-C MH-C2

0... 360
+0.3
+0.5

0.1

4

0.1

2.2
(0.55)
400
(600)

25

668 /668
5(=10%)
4

©)

yes
Wires (5x)
0.56 (AWGZ20)
Cable 6pole
0.25 (AWG24)
yes

Wires (10x)
0.25 (AWG24)
Cable 10pole
0.09 (AWG28)

360 (continuous)
P68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
+4 /48
30

£

EY

70

30

20

www.tifu-auto.com

-?

Vert-X 27E - 5V / SPI
B A

WEIH

X%

BER

FREBKEN

B SR 1P68
MMER
EZ=3 W -
RENEDEEBEUE
BEFEHTRENA

(RE BR, KL RHE)
EREESAETEAS
2P RANEH

R R MH-C

2 PR 12bit

HEMH-C2E R

FmER MH-C2

2 PR 14bit

REIR, EEAEAMNAETH
BFIEE/RE (iE)

CONIELEC

A congoany of the Siedle-Group

1801742700



REBEHEAR (L FRAF 3'

B4 E CW 45t

EE#E CCW ATk 2
TUR, EE[ABECW Ak 3
TR, EFEHECCW Tk 4

B EEME

2 A% 448 10pole

7 ¥5fE 4 Spole / 6pole

9 Wik BB ; special &

B/

1 /% BABL 10pole

6 ¥t [ B4 6pole

9 Wik BB Y ; special &4

[ 5 SHRKE
TR, RRESMEAES 01 W% 10cm
03 mi% 30cm
_ 05 #5# 50cm
HHES 99 Wik BHK
SPI Standard 8
Length of cable
02F5 #1.0m
067[1£3.0m
ﬂt%ﬁf& 107 3£5.0m
5VDCH 2 997 i%Special length
Vert-X 2 7 E 2 7 3 6 2 8 1 7 0 5
BEEA
36FRME S E A360°
xxH1%£03 to 35; Declaration in 10° steps
99T K BRI A
LR RE
7MH-C
HLAR 45 AR A<
22E1 AL A IR R 3% size 9 ; WA AT Ml #Gtype 1
22E247 R AR R 2 size 9 ; R ITHL Mtype 2
22E9TERIRANE KB TNG
1T Bl BT IR MH-C MH-C2
T HIAE X B
1T il 2 88 X -
EDX%...y% Ub (within 5% ... 95% Ub) X -
PROEAE KR X -
FFXINBETTL (max. 2) X _
BRI & - -
B IRES A SEE 30° to 360° (ex factory) X -
BREATRE (B4 - -

BERAMAQIRE (B L)
HE¥: 5 ECW/CCW RIiRE / Al 4wiE (MM KL M)
RE|RUIRE ARE (FNKB IR

CE
g C

Vert-X 27E - 5V / SPI
Ordering code

ik (REEFER)

CONIELEC

A company of the Siedle-Group

REBEFEA (LB) BRATE TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



RREERAR (L) FRA

R}

H]

:*

.

Vert-X 27E2 XXX XXX 2XX
Vert-X 27E2 xxX XXX 7xx

B2 (incl.)
. N 1x BEXRF
Einbaumass | / tdz o # S B3
working position 8 4M5x12
3x M3x3,5 - 8
- )
- 3 T{ef B(2) MBI AT AL
r FRKREL
S 2 SEREEL
(@]
8 410 IS
oc | I
©o| E==F {HE -E_-ILQ!;— il
o= - O Sy ©
N i
RN .
5,9 10,5
13,35 15,6
Vert-X 27E2 xxx xxx 1xx
Vert-X 27E2 xxx XxXx 6xx
B4 (incl.)
1x B EXRF
Einbaumass - Zxdz = 2§ ki patisd
working position q B4 M5x12
. - -
G52 T ; 6 3 4= N
= |t N THENEZ)MEERITIE R
. s YR A
* ] 1 = SEZREFER
™ ° w0l 5 &
[a] +‘1 H
> " =
™~ o ~t B [] :L}-J l' L0
d e sl (o] >
- | i
LD o HH
:< 7 = ] £
= w
Ieo] L
= 10,5
219 Bt ot =
18 | | 15,6

CONIELEC

A company of the Siedle-Group

www.tifu-auto.com

HERBIEHEAR (L¥F) BAFR/AT TEL:400-800-5927 5K L

18017427003



RERBIEHEA (L) FRAF

R}

huf

Vert-X 27E1 XXX XXX 2XX
Vert-X 27E1 xxx XXX 7xx

B4 (incl.)
‘ 1x BEXRF
Embaumass . 7 4dz - 2x WS &
working position BB 4 M5x12
3% MBXBA H ,] 6
W10 ar 4 Tt B(Z) IR AT HLAG 22
= = e FRAHEL
_ c‘fclf SERERER
A Y .H I ) ™M
ik =| 8
-l = | %( y !
™ — I "
SR=—0E =
. O
1  HH =
Y
Y H | l

oo 13,35 10, 5
Vert-X 27E1 xxx Xxx 1xx
Vert-X 27E1 xxx XXX 6Xxx
B4 (incl.)
1x B EXF
Einbaumass /g7 X WIS E
_ working posilio | o R4 M5x12
|
@X . ~_5W10 1,6 |, |4
o THEMEZ)MEERITIGE R
™ FERAED
o o)l Ty —
- = o, ! Hh—— o SEREESR
> 1 o >
/ \ ! o7 1—
™~ ~t inE
™l — Falgm (=]
SN RS - ]
\ T I ‘
9T Y T v o
T »‘ 1
F e
= 5, g 4! s
B8 18 | 10,5 B

CONIELEC

A company of the Siedle-Group

BERBEEEAR (LB BR/AT TEL:400-800-5927 3k T: 18017427003

www.tifu-auto.com



®RH

BEAR (L) FRAFE gi

o
s
\y

T

/tdz

-

Cc

Vert-X 27E2

REREER

THENE(Z)

MH-C 12.80mm
MH-C redundant 12.30mm
BT SR K RV

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 27E1

REER

THLEQZ)

MH-C 1.40mm
MH-C redundant 0.90mm
BT B K VR 4RIL

dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

BEREBEA (EF) AT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RRBEFAR (L#E) FRAF

-

R
=
x

Cc

Vert-X 27E
B
B EXF
36
/ A2
/‘\\ l
) 1 v
6| & $24,8 -
ol =
|
P T : T
i 45,5
h =]

CONIELEC
R EEBAR () APRAF TEL:400-800-5927 3 T: 18017487045 ¢ *e %

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



